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Mathematics/P2 NSC — Grade 10 NW/June 2019
Question 1
1.1 v formula
PQ= \/(Xz - X1)2 + (yz - yl)2
=J(7-6) +(4-6) v substitution
=5 v_ answer
3
12 6+X 6+Yy) sz
2 ' 2 2'2 g orx_7
6+x _7 6+y _7 2 2
El 2 ) 12 2 . 6y . Z
X= y= 2 2
S(1:1) v’ answer (3)
13 | pr-= (XP—XQ)2+( F,—yQ)2
=(7-0)* +(4-3) v’ substitution
=+/50
=52
_ 707 V' answer
QS= \/(Xs _XQ)2 +(yS _yQ)2
= Ja-6) +(1-6) v substitution
=+/50
— 5.2
—707 V' answer
PR=QS v" conclusion
)
1.4 6-3
Mor =50 v substitution
2 Mog = E
I 3-1
RS — A 41
_ ?2_1 Y Mpg =2
Mg X Mg
_ o 1 V)
= _ZXE > X
=1
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Mathematics/P2 NSC — Grade 10 NW/June 2019
Mpg XMy =—1
QR LRS v Mpg xMys =—1
(5)
1.5 | Rectangle v" Rectangle
The diagonals are equal and one of the interior angles is equal
0 v reason
to 90
1.6 A J5 A J5
CosRSQ =——= vV cosSRSQ = ——
52 5.2
RSQ =71.57 v_ answer
©)
Question 2
2.1.1 v’ substitution
=%sin112.4° SUBSHIUH
v’ answer
=0.46
2)
212 | _ C036C(112,4o +48,60) v’ substitution
= 1 v’ reciprocal
sin(L12,4° + 48,67
=3.07 v’ answer
(©)
2.1.3 ° o
112,4° + 48,6 o
= 200{ i J v’ substitution
=0,33 V' answer
(@)
2.14 0
112.4 o
= tan( 3 } v’ substitution
=0,77 v answer
2
2.2.1 | tan6 =2,736
0=6992 v answer
1)
2.2.2 | 3sin(30-60°) = 0,531 L
_ 0 v~ division by 3
sin(30 - 60°) = 0,177
30 =10.195 + 60° v’ simplification
30 = 70,195
v answer
0 = 23,40°
©)

ﬁﬁ#ﬂllllIII|II|I|!IHIIHIII\I|||IIIII|IHIII||II\|IIII\I|\IHIHIHIHIHIHIIIII||

NW/JUNE/MATH/ EMIS/6*******




Mathematics/P2 NSC — Grade 10 NW/June 2019
Question 3
3.1.1
X2+yi=r2.... pythagoras v’ substitution
2 2 192
X" +(9)" =13 v’ simplification
x? =169-25
X =12 (3)
3.1.2
fana = X
X
tana = i
12 v' answer
(1)
3.1.3| sin®a+cos’a
2 2
:(2} J{E} v substitution
13 13
=1
v_ answer
@)
3.1.4
seCa =
cosa
r
v -
sec— r sec y
X
— E v’ answer
12 (2)
3.2 | cosec20°.sin20° + tan 45°.sec60°
cot45°.sin90° 1
sin20° +1.2 ey
_ sin20° " . sin20
1.1 /1
1+1.2 v 2
=—7 o
3 v 1
v’ answer
(6)
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Mathematics/P2 NSC — Grade 10 NW/June 2019
Question 4
411 A _ _ V'S
O1 =90° diagonals bisect at 90° v R
)
412 o . ]
L,+ 01+ LKM =180" sum of angles of A v SR
L1 =180 (34" +90°
Ly =56 v answer
(2)
4.1.3 . .
L1 =56  Diagonals bisect the angles v SR
L1+ L ~ Not N opp Zs of a rhombus v SIR
N1+ Nz =56" +56° v" Substitution
-~ KNM =112 v answer
(4)
421 » . v' SIR
ABF =BFE =2x alt /s ABI//BF S/
AFE = X + 2X V'S
A|A:E = 3X v’ answer
3)
n v
4.2.2 BFE = 2x proven above S
AFE+FEB=180 co—int £s AF//FEB
0 v SIR
3X+7x =180
10x =180° v" simplification
x=18°
v’ x —value
SFA = SAF = 3x Zs opp = sides v S/R
-.3(18) =54°
. 0 0 _ 0
£ o4 #5474y =180 sum of angles of ASAF
-y =180° —108°
vy —value
=72° (6)
" " v
>l | ABE=FDC [altss; AB//DC] SR
BE =FD given v S/R
AB =DC opp sides of parm v'S/IR
v conclusion
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Mathematics/P2 NSC — Grade 10 NW/June 2019

~AABC = ACDF S; Z; S 4)
5.2 " "

AEB=DFC proven above from congruency

AEB+AEF=180 s on a str.line V'R

CFD+CFE=180 /s on a stline v R

. AEF=CFE (AEB = DFC)

.. AE/IEF [alt  Zs=] _

v’ conclusion
©)

5.3 | AE//FC  proven above v R

AE=FC  AABE=CDF VR

.. AECF is a parm [Pair of opp sides=and//] v" conclusion -
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